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1. =89 714,508 966,880 9,092,196
& 9,092,196
2. Bkatz|d| (A 2H|+ = FH[+AH]) X 545,531
@~ 9,637,727
3. 0] 7 (L FH[+A 2H|+ZH|+ 859,545
=7t 10,497,272
4. FIIRIA 1,049,727
= = of 11,547,000
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1. Rl zo|® 2alY
2ef S &7 (t=30cm) 13| 1600 m 261 417,600 22 35,200 162 259,200 445 712,000
O 2 & H| A 13| 1,600 m 55 88,000 110 176,000 0 0 165 264,000
D2MTF(ZHAM £ 5) 13| 1,600 m 175 280,000 31 49,600 31 49,600 237 379,200
MEH EE 13| 1,600 m 99 158,400 66 105,600 0 0 165 264,000
HEEY 13| 1,600 m 200 320,000 0 0 0 0 200 320,000
S A 790 1,264,000 229 366,400 193 308,800 1,212 1,939,200
2. 2eEE
ZhAL 13| 136 m 38,841 5,282,376 0 0 0 38,841 5,282,376
= Z E2{(4.5t0n) 12hr 1 ch 33,064 396,768 7,383 88,596 6,705 80,460 47,152 565,824
S47|(Eto|ojE) 0.8m 12hr 1 ch 38,972 467,664 21,626 259,512 35,635 427,620 96,233 1,154,796
& A 6,146,808 348,108 508,080 7,002,996
3. AApH|
2|4 sZHAL 13| 3 ES 50,000 150,000 150,000
g A 7,410,808 714,508 966,880 9,092,196




